Solving Rational Equations Practice

Solve the following equations for the given variable. Check for extraneous solutions:

1) 3z — 5 — =0

20 bx
3) $+$—4_x—4_2
6 2x

5) x+173:x73

7) 2c  _ 4dz+5 3
3x—4  6x—1 3r—4

3m 7 3
9) 2m—5 3m+1 2

11) 47:1:: 12

13) L —1l_y=2

1 1 3z+8
15) t+2 2—z  a2_4

rx+1 z—1 5
17) r—1 z+1 6

3 2z+1 82
19) 2z +1 +

r—2 1 1
21) z+3 -2 224x-6

3 r—1 __ 5x+20
23) x+2 + x+5 6x+24

T 2 422
25) r—1 z+1  22—1

27) :1:2Jf1 _xi5:m212215

2) S5+ 5 =
31) §:2+§122x2:32;i18
33) 45:31 +5X:13:x2+8;;—3

1—2z 4221

4

2) x+1:x+1

4) Gt R

r—1 x—1

6) T =5 +1

z—1 3
6+ 5 2 3z
8) 2 - 2 2
2x4 —2x 1—z x4 —1
4z 4 1
10) 20—6 bz—15 2

12) 3zm +%:4ix

r—1 r+4 1
22) z—2  2x+1 222—3z—2
T 4 — 52
24) t+3 -2 224+x-6
2x 2 3z
26) J:+2+$—4_x2—2x—8

3 — 222

28) z = i
r+1 x+3 z?+4x+3

30) zf3+zf2_ z2
r+6 ' -3 2243zx—18

z+3 T—2 922
32) x—2 + z+1  22—z2-—2

3x—1 2¢ —3 —3x2
34) — =—
x+6 r—3 x4+ 3z — 18



Key:

16
3

13)

14) 2, 13
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34)

24) —1

12) 5,10



